
BODMAS Matching 

I can correctly use the order of operations to carry out calculations.

Match the calculation to the correct answer using your knowledge of BODMAS. 
One calculation has been done for you.

72 + 46 × 7 = 37

512 ÷ 8 - 27 = 407

1505 - 732 - 498 = 281

9 × 828 ÷ 92 = 806

37 × 43 - 1184 = 394

598 + 424 - 759 = 81

9² × 3 + 38 = 685

582 + 28 × 8 = 34

396 - 234 - 128 = 275

1000 - 45 × 7 = 263

Don't forget 
your BODMAS order: 

Brackets 
Orders (exponents) 

Division and Multiplication 
Addition and Subtraction
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BODMAS Matching Answers

Question Answer

Match the calculation to the correct answer using your knowledge of BODMAS.

72 + 46 × 7 = 37

512 ÷ 8 - 27 = 407

1505 - 732 - 498 = 281

9 × 828 ÷ 92 = 806

37 × 43 - 1184 = 394

598 + 424 - 759 = 81

9² × 3 + 38 = 685

582 + 28 × 8 = 34

396 - 234 - 128 = 275

1000 - 45 × 7 = 263
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